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QUESTION 1

An enterprise data warehouse contains 700 million records. This enterprise data warehouse has a three-tiered
architecture and uses QVDs.

The Qlik Sense server contains 24 GB RAM and contains two processors with eight cores. The company needs to allow
vendors to access a Qlik Sense app anonymously to review past business transactions and current year-to-date
performance.

Which method should the data architect use to meet this requirement?

A. Build an On-Demand Application Generation template app and a selection app, and allow vendors to access
anonymously.

B. Build an On-Demand Application Generation template app and a selection app, and require vendors to log into Qlik
Sense to view the app.

C. Build a Direct Discovery app that enables users to view their individual content using dynamic QVDs.
D. Build a Direct Discovery app that enables users to view their individual content using Section Access.

Correct Answer: A

QUESTION 2

Refer to the exhibit.
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A data architect needs to resolve a synthetic key and make sure that users can see the unique department
name and hospital name for each order.

Which action should the data architect take?

A. Remove DepartmentID from the LOAD statement for the Orders table

B. Remove HospitallD from the LOAD statement for the Orders table

C. Remove the Departments table from the LOAD script

D. Remove the Hospitals table from the LOAD script

Correct Answer: B

QUESTION 3

Refer to the exhibit.

EmployeelD Sales EmployeelD Target

EMP2 50 EMP1 100
EMP2 30 EMP2 400
EMP3 20 EMP3 200
EMP3 50 EMP4 350
EMP3 10 EMP5 200
EMP2 20 EMPG 250
EMP4 60 EMP7 200
EMP4 10 EMPS 350
EMP4 10 EMPY 200

Measures
= b B Sum(Target

o il el = .:I‘..l
i EMp? EME EMPg EME EMPY EMP7 EMPE EMF

Employeell =

A data architect has two tables that contain Sales and target data for employees. The tables are loaded into Qlik Sense
and are associated by EmployeelD. The data architect creates a bar chart of total Sales vs. Target. The architect
notices some values for target are too high, and employees with NO sales should be excluded.

Which function should the data architect use to resolve these issues?

A. Left Join

B. Inner Join
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C. Left Keep
D. Outer Join

Correct Answer: B

QUESTION 4

Refer to the exhibit.

Preview of data

Country

The business analyst previews some data and notices different values for the United States in the Country field. The
analyst must be able to report the total sales for the United States. The data architect must fix this issue in the LOAD
script.

Which function should the data architect use to fix data quality issue?

A. Switch

B. ApplyMap

C. Case

D. Replace

Correct Answer: B

QUESTION 5

Refer to the exhibits.
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EmplD Dept Jan Feb Mar Apr May Jun
1A 60 63 53 61 B0 57
2 A ] 62 56 3 7T 65
iB Gl 62 g0 Bb rr 75
4B 72 72 a5 70 54 FE
5B T2 72 a5 a5 &0 57
Commission

EmpiD Dept ManageriD Level

14 10 Junior
2IA 11 Senior
3 A 10 Junior
48 12 Junior
3B 11 Senior
| Employee
ROSSTAD LY r r )

ded labels, table is Commission)

bels, table is Emplovee);

The two tables have been loaded by the script shown. This script creates a synthetic key, which is not desired. The Dept
code in the Employee table is incorrect for EmplD=3. The data architect must change line 27 to create a single table in
the data model that is accurate.

Which LOAD statement should the data architect use?

A. JOIN LOAD EmplD, ManagerID, Level

B. KEEP LOAD EmplID, ManagerID, Level

C. JOIN LOAD *

D. CONCATENATE LOAD EmplID, ManagerID, Level

Correct Answer: A
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